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Outline : @ III . Operators ( denoted by X , Y . . . in general) ,
some of which are observables (A , B . . .)
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as base kets . . .

- matrix representation of operators,
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⇒ (a" la ' ) = O
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X matrix different if ebasekets of@used



checky ( a " Ix la '> = La' lxtla ")*
Xt represent by complex conjugated

transpose of (matrix) X
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highest spin component



'⇒ e- (
'

o) : h =L: )

¥*
EE

-

×=h-E#
Measurements : La) =#a' la
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postulated
moetasurbesemreibtef.ws

system into one of eigenkets of A
la) A→asuremen
Aismeasuvredtobe
e. g . Ag atom after SGI is

in either
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postulated probability for al
-

= ( Laila> 12 = Karl
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determine probabilities by measuring A

on ensem of ident systems , e.g .

Ag beam comingout of SGEE with ↳



beam is ④ ( Sz : 't>delta))
- - - selection of (t) represented by

pr-oberatpjeini.IR ↳

. ..rea postulates:resultingk
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a
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⇒ GABA is indeed "average
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Note : eigenvalues us . expectation values
- -
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value between
Sz th12
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that

we had guessed earlier


